In the determination of the DCN (Derived Cetane Number) several laboratories reported ASTM D7668 test results that could not be verified manually from the reported ID and CD.
One of these laboratories that used the Herzog by PAC ID 510 apparatus, contacted the supplier of the apparatus to trace the cause of the problem. It became apparent that in ASTM D7668 – 14a (section 13.1) the DCN calculation was revised. The instrument still used the former equation of the previous ASTM D7668 version and therefore a software update was required on this instrument.
equation in version D7668-14a:

DCN = 13.028 + (-5.3378⁄ID) + (300.18 ⁄ CD) + (-1267.90⁄CD2) + (3415.32 ⁄ CD3)

equation in earlier versions of D7668:

DCN = (–0.5245 * ID) + (–0.2566 * ID2) + (0.1932 * CD) 

+ (–0.001993 * CD2) + (I) (46.857 * ID/CD) + 39.903
